CSE 326 Reading Quiz

Name: ______________________ Score: ____

Friday 7/7/00

1. "AVL" as in AVL tree stands for (circle one)


Abstract Verifiable List


Adelson-Velskii Landis


Aardvark Villainy Lambada

2. An AVL tree is a special form of (circle one)


list


multi-list


stack


queue


binary search tree


heap

By definition, in an AVL tree, the 3. _____________ of the left and right subtrees can differ by at most 4. ___________

The characteristic AVL tree operations that are sometimes needed following an insertion are called 5. _____________


rotor-rooters


root resections


rotations


homology mappings

and their purpose is to 6. ____________________


ensure the min element is at the root


rebalance the structure


put the less frequently accessed elements near the leaves

7. The unusual thing about a splay tree is that after we have searched for and found a node, that node is always (pick one) 


deleted


moved to the root position


moved further down in the tree

